
Revision 3 Budgeting
I.
Budgetary System

Question 1 – ZBB
J Ltd has recently been taken over by a much larger company. For many years the budgets have been set by adding an inflation adjustment to the previous year’s budget. The new owners of J are insisting on a zero-based approach when the next budget is set, as they believe many of the indirect costs in J are much higher than in other companies under their control.

(a)
Explain the main features of “zero-based budgeting (ZBB)”.
(2 marks)

(b)
Discuss the problems that might arise when implementing this approach in J Ltd.


(3 marks)

Question 2 – ZBB and ABB
Explain the differences and similarities between zero based budgeting and activity based budgeting.
(10 marks)

Question 3 – Budget Preparation and Flexible Budgets

X Plc manufactures specialist insulating products that are used in both residential and commercial buildings. One of the products, Product W, is made using two different raw materials and two types of labour. The company operates a standard absorption costing system and is now preparing its budgets for the next four quarters. The following information has been identified for Product W:

	Sales
	

	Selling price
	$220 per unit

	Sales demand
	

	Quarter 1
	2,250 units

	Quarter 2
	2,050 units

	Quarter 3
	1,650 units

	Quarter 4
	2,050 units

	Quarter 5
	1,250 units

	Quarter 6
	2,050 units

	
	

	Costs
	

	Materials
	

	A
	5 kgs per unit @ $4 per kg

	B
	3 kgs per unit @ $7 per kg

	Labour
	

	Skilled
	4 hours per unit @ $15 per hour

	Semi-skilled
	6 hours per unit @ $9 per hour

	Annual overheads
	$280,000

40% of these overheads are fixed and the remainder varies with total labour hours. Fixed overheads are absorbed on a unit basis.

	Inventory holiday policy
	

	Closing inventory of finished goods
	30% of the following quarter’s sales demand

	Closing inventory of materials
	45% of the following quarter’s materials usage


The management team are concerned that X Plc has recently faced increasing competition in the market place for Product W. As a consequence there have been issues concerning the availability and costs of the specialized materials and employees needed to manufacture Product W, and there is concern that these might cause problems in the current budget setting process.

Required:

(a)
Prepare the following budgets for each quarter for X Plc:

(i)
Production budget in units;

(ii)
Raw material purchases budget in kgs and value for Material B.



(5 marks)

(b)
X Plc has just been informed that Material A may be in short supply during the year for which it is preparing budgets. Discuss the impact this will have on budget preparation and other areas of X Plc.
(5 marks)

(c)
Assuming that the budgeted product of Product W was 7,700 units and that the following actual results were incurred for labour and overheads in the year:

	Actual production
	7,250 units

	Actual overheads
	

	Variable
	$185,000

	Fixed
	$105,000

	Actual labour costs
	

	Skilled – $16.25 per hour
	$568,750

	Semi-skilled – $8 per hour
	$332,400


Prepare a flexible budget statement for X Plc showing the total variances that have occurred for the above four costs only.
(5 marks)

(d)
X Plc currently uses incremental budgeting. Explain how zero based budgeting could overcome the problems that might be faced as a result of the continued use of the current system.
(5 marks)

(e)
Explain how rolling budgets are used and why they would be suitable for X Plc.



(5 marks)



(Total 25 marks)

II.
Quantitative Analysis in Budgeting
Question 4 – High-low Method and Regression Analysis
Alba Ltd is preparing its budget for the year to 30 June 2012. In respect of fuel oil consumption, it is desired to estimate an equation of the form y = a + bx, where y is the total expense at an activity level x, a is the fixed expense and b is the rate of variable cost.

The following data relates to the year ending 30 June 2011:

	Month
	Machine hours
	Fuel oil expense
	Month
	Machine hours
	Fuel oil expense

	
	(000)
	($000)
	
	(000)
	($000)

	July
	34
	640
	January
	26
	500

	August
	30
	620
	February
	26
	500

	September
	34
	620
	March
	31
	530

	October
	39
	590
	April
	35
	550

	November
	42
	500
	May
	43
	580

	December
	32
	530
	June
	48
	680


The annual total and monthly average figures for the year ending 30 June 2011: were as follows:

	
	Machine hours
	Fuel oil expense

	
	(000)
	($)

	Annual total
	420
	6,840

	Monthly average
	35
	570


Required:

Estimate fixed and variable elements of fuel oil expense from the above data by both the following methods:

(a)
high and low points
(4 marks)

(b)
least-squares regression analysis
(8 marks)

Question 5
The Western is a local government organisation responsible for waste collection from domestic households. The new management accountant of The Western has decided to introduce some new forecasting techniques to improve the accuracy of the budgeting. The next budget to be produced is for the year ended 31 December 2010.
Waste is collected by the tonne (T). The number of tonnes collected each year has been rising and by using time series analysis the new management accountant has produced the following relationship between the tonnes collected (T) and the time period in question Q (where Q is a quarter number. So Q = 1 represents quarter 1 in 2009 and Q = 2 represents quarter 2 in 2009 and so on)
T = 2,000 + 25Q
Each quarter is subject to some seasonal variation with more waste being collected in the middle quarters of each year. The adjustments required to the underlying trend prediction are:
	Quarter
	Tonnes

	1
	-200

	2
	+250

	3
	+150

	4
	-100


Once T is predicted the new management accountant hopes to use the values to predict the variable operating costs and fixed operating costs that The Western will be subjected to in 2010. To this end he has provided the following operating cost data for 2009.
	Volume of waste
	Total operating cost in 2009 (fixed + variable)

	Tonnes
	$000s

	2,100
	950

	2,500
	1,010

	2,400
	1,010

	2,300
	990


Inflation on the operating cost is expected to be 5% between 2009 and 2010.
The regression formula is shown on the formula sheet.
Required:

(a)
Calculate the tonnes of waste to be expected in the calendar year 2010.


(4 marks)
(b)
Calculate the variable operating cost and fixed operating cost to be expected in 2010 using regression analysis on the 2009 data and allowing for inflation as appropriate.


(10 marks)
Many local government organisations operate incremental budgeting as one of their main budgeting techniques. They take a previous period’s actual spend, adjust for any known changes to operations and then add a % for expected inflation in order to set the next period’s budget.
(c)
Describe two advantages and two disadvantages of a local government organisation funded by taxpayer’s money using incremental budgeting as its main budgeting technique.
(6 marks)


(Total 20 marks)
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Question 6 – Learning Curve
A company is planning to launch a new product. It has already carried out market research at a cost of $50,000 and as a result has discovered that the market price for the product should be $50 per unit. The company estimates that 80,000 units of the product could be sold at this price before one of the company’s competitors enters the market with a superior product. At this time any unsold units of the company’s product would be of no value.

The company has estimated the costs of the initial batch of the product as follows:

	
	$000

	Direct materials
	200

	Direct labour ($10 per hour)
	250

	Other direct costs
	100


Production was planned to occur in batches of 10,000 units and it was expected that an 80% learning curve would apply to the direct labour until the fourth batch was complete. Thereafter the direct labour cost per batch was expected to be constant. No changes to the direct labour rate per hour were expected.

The company introduced the product at the price stated above, with production occurring in batches of 10,000 units. Direct labour was paid using the expected hourly rate of $10 and the company is now reviewing the profitability of the product. The following schedule shows the actual labour cost recorded:

	Cumulative number of batches
	Actual cumulative direct labour costs

	
	$000

	1
	280

	2
	476

	4
	809

	8
	1,376


Required:

(a)
Calculate the revised expected cumulative direct labour costs for the four levels of output given the actual cost of $280,000 for the first batch.

(b)
Calculate the actual learning rate exhibited at each level of output.

(c)
Discuss the implications of your answers (a) and (b) for the mangers of the company.



(10 marks)

Question 7 – Learning Curve

You are the management accountant of a new small company that has developed a new product using a labour intensive production process. You have recently completed the budgets for the company for next year and, before they are approved by the Board of Directors, you have been asked to explain your calculation of the labour time required for the budgeted output. In your calculations, you anticipated that the time taken for the first unit would be 40 minutes and that a 75% learning curve would be apply for the first 30 units.

Required:

(a)
Explain the concept of the learning curve and why it may be relevant to the above company.
(3 marks)

(b)
Calculate the expected time for the 6th unit of output.
(3 marks)

(c)
Discuss the implications of the learning curve for a company adopting a penetration pricing policy.
(4 marks)



(Total 10 marks)
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